REZEE4tEFENX00

B4 EhmLEEEBRR/NEEZHRRSHEIRE--BR: 2F (RERER:2F->2F)

PNA21-01[#8[8]: 2F [MBiLiBEX&TE]: ALEFHR: 1 [X0:+2955,Y7:-175]
B BRI IEETE:
I IEER MR (1) W5-00 O 2.35*2.35cm(x2mm) E & 5=
FR~T:

BIIREEL: 1
+[/NER:1-1B 3L §E %] 5.300%0.15 = 0.795 m2

L BB SRR /NET: = 0.795 m2
LLE/NEE: +0.795 = 0.795 m2

o

PNA21-01[#2[E]: 2F [MBiLfEER4 ] LB 2 [X0:+3265,Y17:-48]
BRI E:
B REER M RIA # (1) Wa-010) 1 2.35*2.35cm(x2mm) E & 5=
TR (BITRER):
0.93=0.930 m2
LLE/Et: +0.930 = 0.930 m2

PNA21-01[#£[8]: 2F [BiLiGEX&TE]: fIEFHR: 3 [X0:+2825,Y17:-55]
BIBEREETE:
ISR RIA (1) W5-0 0 U 2.35*2.35cm(x2mm) E &5
FR:

BEINEER: 1
+[/NER: - BTN ER] 2.500%0.15 = 0.375 m2

YL EBIIHEE /AT = 0.375 m2
LLE/NEE: +0.375 = 0.375 m2

PNA21-01[#&[8]: 2F [MBiLiEER& ] EFHE: 13 [X9:+145,Y15:+196]
B BRI IEETE:
B REER I RIA (1) PA-TE MR IR BH K IR (B EEE)(TES)
FR~T:

TEIIHEER: 1

+[/NER: 1B HEER] 1.732%0.60 = 1.039 m2
BIIHEER: 2

+[/NER: 1B HEER] 1.294%0.60 = 0.776 m2
BEIHEER: 3

+[/NER:1-E I HE ER] 0.626%0.60 = 0.376 m2
TEIIHEER: 4

+[/NER:2- Y83 E%] 0.250%0.60 = 0.150 m2
EIIHEER: 5

+[/NER:1-E TN ER] 0.800%0.60 = 0.480 m2
TEIIHEER: 6

+[/NER: 1B ER] 0.319%0.60 = 0.191 m2
BIIEER 7

+[/NER:1-IB I HE Y] 1.573%0.60 = 0.944 m2
LU BT SRR /e = 3.956 m2

L E/NEt: +3.956 = 3.956 m2

PNA21-01[#8[8]: 2F [BBiLiBEX& ] [LEFHR: 12 [X6:+93,Y5:-11]
BILEEREETE:
BB RIMFL(1) PA-SESRMRBIKIE(BEE)TES)
FRF:

BILHEER: 1
+[/NER1-JB LB ER] 1.573%0.60 = 0.944 m2

BILHEER: 2
+[/NER1-JB LB ER] 1.732%0.60 = 1.039 m2

BILHEER: 3
+[/NER1-JB LB ER] 1.294*0.60 = 0.776 m2

BILHEER: 4
+[/NER1-JB LB ER] 0.626*0.60 = 0.376 m2

BB 5
+[/NER2- XL 5 E%] 0.250*0.60 = 0.150 m2

Page 1/5



TINEER: 6

+[/NER:1-E I E%] 0.800%0.60 = 0.480 m2
EIIEER 7

+[/NER:1-E I ER] 0.319%0.60 = 0.191 m2
LU EBILEE /AT = 3.956 m2

LLE/NEL: +3.956 = 3.956 m2

PNA21-01[#£[E]: 2F [BILfEERATE] [LERFHR: 4 [X5:+244,Y16:-200]
WIS
ﬁﬁf}é&;ﬁﬁﬂﬁﬂ:m) #KE | HEARAITEEE2.35"2.35cmE TR

BILHBER: 1

+[/NER1-JB LB ER] 2.880%0.15 = 0.432 m2
BILNEER: 2

+[/NER1-JB LB ER] 0.300*0.15 = 0.045 m2
BILIBER: 3

+[/NER1-JB I HBER] 2.880*0.15 = 0.432 m2
BILIBER: 4

+[/NER1-JB LB EX] 0.300*0.15 = 0.045 m2
L EBISI B /NG = 0.954 m2

LLE/NET: +0.954 = 0.954 m2

PNA21-01[#8[E]: 2F [BILiEERLB] MERFHE: 9 [X5:+29,Y16:-200]
B BRI E:
%ﬁiﬁ%é%r%ﬁﬂﬁﬂzm) KA | HEHRITEREL2.352.35cmB R

BILHEER: 1

+[/NER1-JEB I ABER] 1.180%0.35 = 0.413 m2
BIHEER: 2

+[/NEE1-JEB L AB ER] 0.300*0.35 = 0.105 m2
BIHEER: 3

+[/NEE1-JE I ABER] 1.180%0.35 = 0.413 m2
BILHEER: 4

+[/NEE1-JEB L AB ER] 0.300*0.35 = 0.105 m2
KL BB SR/ NET: = 1.036 m2

LA E/NET: +1.036 = 1.036 m2

PNA21-01[#8[8]: 2F [BiLiGEX&TE]: fIEFHR: 8 [X5:-7,Y8:-39]
BB EBEE:
%ﬁiﬁ%éﬁ_r*ﬁﬁw**(1) KB M AITE®mL2.35*2.35cmEER

TEIIHEER: 1

+[/NEE:1- B3I HEER] 0.303%0.15 = 0.045 m2
WEIIEER: 2

+[/NEE: - BN ER] 0.156%0.15 = 0.023 m2
WEIIHEER: 3

+[/NEE: - BT HEER] 0.159%0.15 = 0.024 m2
WEIIHEER: 4

+[/NEE:1-FB I N ER] 0.159%0.15 = 0.024 m2
HEIIHEER: 5

+[/NEE:1-FB I N ER] 0.159%0.15 = 0.024 m2
HEIINHEER: 6

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
EIIEER 7

+[/NEE: 1B HEER] 0.159%0.15 = 0.024 m2
HEIIHEER: 8

+[/NERA-FEILHEER] 0.047*0.15+[/NER:2- 3B 3L 5 E%] 0.112*0.15 = 0.024 m2

HEIIHEER: 9

+[/NEE: - BTN ER] 0.159%0.15 = 0.024 m2
BILHEER: 10

+[/NEE: 1B N ER] 0.159%0.15 = 0.024 m2
ISR 11

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
BINEER: 12

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
BIINEER: 13

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
BIINEER: 14

+[/NEE: - BN ER] 0.159%0.15 = 0.024 m2
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BILNBER: 15

+[/NER: 1B ER] 0.159%0.15 = 0.024 m2
BILNEER: 16

+[/NER: 1B ER] 0.156%0.15 = 0.023 m2
BILNEER: 17

+[/NER:1-E I ER] 0.103%0.15 = 0.015 m2
BINEER: 18

+[/NER:1-E I ER] 0.330%0.15 = 0.050 m2
BILNEER: 19

+[/NER:1-E I ER] 0.096%0.15 = 0.014 m2
BILNEER: 20

+[/NER:1-B I ER] 0.198%0.15 = 0.030 m2
BILNEER: 21

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 22

+[/NER: 1B ER] 0.194%0.15 = 0.029 m2
BILNEER: 23

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 24

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 25

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 26

+[/NER: BT KB ER] 0.145%0.15+[/NER: 2- 3B 3L 15 E%] 0.049*0.15 = 0.029 m2

BILNEER: 27

+[/NER: 1B ER] 0.194%0.15 = 0.029 m2
BILNEER: 28

+[/NER:1-EIIHEER] 0.194%0.15 = 0.029 m2
BILNEER: 29

+[/NER: 1B ER] 0.194%0.15 = 0.029 m2
BILNEER: 30

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 31

+[/NER:A-FBST KB ER] 0.028*0.15+[/NER: 2- 3B 3L 5 %] 0.165*0.15 = 0.029 m2

BILNEER: 32

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 33

+[/NER: 1B HEER] 0.194%0.15 = 0.029 m2
BILNEER: 34

+[/NER: 1B ER] 0.198%0.15 = 0.030 m2
BILNEER: 35

+[/NER: 1B ER] 0.296%0.15 = 0.044 m2
BILNEER: 36

+[/NER - S EER] 0.150%0.15+[/NER:2-¥8 L #% F%] 0.180*0.15 = 0.050 m2

LU BB /AT =1.013 m2
LLE/NEE: +1.013 =1.013 m2

PNA21-01[#[Z]: 2F EILiEE& ] ALEFHR: 6 [X5:+20,Y7:-173]
BB
%ﬁf};&;ﬁﬁﬂﬁ*ﬂ:m) KA | AT EERE2.35"2.35cmE B R

B HEER: 1

+[/NER:1-1B I HEFY] 1.600%0.15 = 0.240 m2
BB 2

+[/NER:1-1B 3L §5F%] 0.330%0.15 = 0.050 m2
BB 3

+[/NER:1-1B I HEF%] 1.600%0.15 = 0.240 m2
BILHEER: 4

+[/NER:1-1B 3L #5F%] 0.330%0.15 = 0.050 m2
L BB HEER/NET: = 0.579 m2

LLE/NET: +0.579 = 0.579 m2

PNA21-01[#8[E]: 2F [BILiEERLE] SMERF5R: 7 [X5:+20,Y7:-145]
BILSEREEEE:
zﬁﬁfégrmu*m:m KA | HERRITERE2.352.35cmBRRE

BILHEER: 1

+[/NE1-FE L AB ER] 1.600*0.05 = 0.080 m2
KL BB TSR/ NET: = 0.080 m2

LA E/NET: +0.080 = 0.080 m2

Page 3/5



B # P
_Lfé%rﬁﬁljﬁﬂ'(z) KB EmATERR1SHOABRKEENA

B IEEL: 1
+[/NEE:1-BBIL B ER] 1.600%0.25 =
RGBT - 0d00ma
LLE/NEE: +0.400 = 0.400 m2

BLEEBRIRL) KSR RITERAR 352 35om B

IR 1

gﬁﬁéé;f&z 1-¥B 375 ER] 0.100%0.05 = 0.005 m2

ﬁj%/g&?’ 1-¥B 31 HEER] 0.14770.05 = 0.007 m2

ﬁj;éé;&; 1-¥B 3L B ER] 0.14770.05 = 0.007 m2

ﬁj;ég&s 1-¥B3IHEER] 0.14770.05 = 0.007 m2

ggﬁ,é{é;f&s 1B 3L 4% E%] 0.147%0.05 = 0.007 m2

ﬁj;ég% 1-$B 3L EER] 0.14770.05 = 0.007 m2

ﬁj;ég&s 1-¥B3IHEER] 0.14770.05 = 0.007 m2

ﬁj;ég&g 1-¥B 3L B ER] 0.14770.05 = 0.007 m2

ﬁj%g% 2) FBILHEEY] 0.147%0.05 = 0.007 m2

ﬁﬁ%/g&ﬁ FBIHEEY] 0.147%0.05 = 0.007 m2

ﬁj;ég;% 12 -BILHEER] 0.124%0.05+[/MNex: 2- 1831 & BR] 0.023%0.05 = 0.007 m2
ﬁj%g% ; FBILHEEY] 0.147%0.05 = 0.007 m2

ﬁj%g% l B3 HEER] 0.14770.05 = 0.007 m2

ﬁj%g% ; FBILHEEY] 0.147%0.05 = 0.007 m2

ﬁj%g% 23 FBIHEEY] 0.147%0.05 = 0.007 m2

ﬁj%g% 17 BT EY] 0.14770.05 = 0.007 m2

ﬁ%ﬁiﬁmﬁﬂwa%mﬁ/ﬁﬁﬁﬂﬁﬁﬁuﬁ*é*ﬁE%E

BT 1

ﬁj;gg&; FBILHEEY] 0.100%0.25 = 0.025 m2

ﬁj%g&s 1-¥B 37 B E%] 0.147%0.25 = 0.037 m2

ﬁj%g&‘l 1-¥8 3L 5 ER] 0.147%0.25 = 0.037 m2

m}éﬁﬁ 1-¥B 31 4B E%] 0.147%0.25 = 0.037 m2

zgj;ézjé;f&s 1-¥B 3L 4B E%] 0.147%0.25 = 0.037 m2

%ﬁégi&? 1-B 3L & EX] 0.147%0.25 = 0.037 m2

ﬁj%g&s 1-¥B 37 HBE%] 0.147%0.25 = 0.037 m2

;gj;é{é;f&g 1-¥B 31 4BE%] 0.147%0.25 = 0.037 m2

ﬁj;é(g% 2) FBIL4EE%] 0.147%0.25 = 0.037 m2

ﬁj;é.‘lé\;%l FBILIEER] 0.147%0.25 = 0.037 m2

zﬁj;ég% 12 -BIIHEER] 0.124%0.25+[/Nex: 2- 1831 6 BR] 0.023%0.25 = 0.037 m2
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+[/NER:1-FEIIREER] 0.147%0.25 = 0.037 m2
BINEER: 13

+[/NER: 1B HEER] 0.147%0.25 = 0.037 m2
BILNEER: 14

+[/NER: 1B ER] 0.147%0.25 = 0.037 m2
BILNEER: 15

+[/NER: 1B ER] 0.147%0.25 = 0.037 m2
BILNEER: 16

+[/NER: 1B ER] 0.147%0.25 = 0.037 m2
BILNEER: 17

+[/NER:1-E I ER] 0.300%0.25 = 0.075 m2
LU BB/ MET: = 0.651 m2

LLE/NEL: +0.651 = 0.651 m2

PNA21-01[#8[8]: 2F [MBiLiBERBTE]: BRI 5 [X5:+244,Y16:-194]
B BRI IEETE:
ﬁﬁiﬂ%é’x;*ﬁﬁ'lﬁ**(ﬂ KB HERAITEmAL2.35%2.35cmE&E R
BIIREEL: 1
+[/NER:1-JBAIHEER] 0.350%0.05+[/NER:2- 38 3L #5 %] 0.070*0.05 = 0.021 m2
BIEER: 2
+[/NER:1-1B I HEF%] 3.120%0.05 = 0.156 m2
L BB SRR /NET: = 0.177 m2
LLE/NEE: 40,177 = 0.177 m2
ﬁﬁiﬁ%é&;%ﬁw*iz(z) HKE I ERRITEEIR1SDAEBKEERHE
BILHEER: 1
+[/NER:1-JBIINE ER] 0.350%0.25+[/NER:2- 8 L #5 %] 0.070*0.25 = 0.105 m2
BIHEER: 2
+[/NER:1-FB I ¥EER] 3.120%0.25 = 0.780 m2
L BB SRR /NET: = 0.885 m2
Ll /e +0.885 = 0.885 m2

PNA21;101[1‘§J§]:§F EILEERZ 8] LB F5E: 10 [X5:+35,Y16:-194]
B SRR B E:
ﬁ%f%?mﬁﬂm)%mﬁ/ﬁﬁﬁﬂ@ﬁ%z%?ﬁ&mﬁgﬁ
R+t
WL 1
B ;gé\ﬁ&“ﬂ-ﬁﬁﬁ%&] 0.350*0.05+[/INE&: 2-# 3L #5 E%] 0.070*0.05 = 0.021 m2
-l‘-L = Ixj'i 2
+[/NEE1-JEB L ABER] 1.300*0.05 = 0.065 m2
KL BB TSR/ NET: = 0.086 m2
LA_E/NET: +0.086 = 0.086 m2
ﬁ%f%?mﬁﬂﬂn%mﬁ/ﬁﬁﬁﬂ&ﬁﬁuﬁﬁ@*ﬁﬁ%ﬁ
R+t
WL 1
- ;gé\ﬁ&“ﬂ-ﬁﬁﬁ%&] 0.350*0.30~+[/INE%: 2-# 3L #5 E%] 0.070*0.30 = 0.126 m2
-l‘-L = Ixj'i 2
+[/NEE1-FE I ABER] 1.300%0.30 = 0.390 m2
KL BB KSR/ NET: = 0.516 m2
LLE/NEt: +0.516 = 0.516 m2
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